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4 ANSWER THE FOLLOWING QUESTIONS :

1) In a simple machine, the velocity ratio is found to be 20. An effort of 25kg lifts a load 400kg.
Calculate the Mechanical Advantage and Efficiency .

2) In a wheel and axle , the diameter of the wheel is 15cm & that of the axle is 6 cm. If the efficiency
of the machine is 75%, what would be the effort required to lift a load of 150kg?

3) Find the current following through 10 ohm resistance when connected to a voltage of 20 V.

4)The potential difference between two ends of a conductor is 10 V. If 2 A current flows through the
conductor , what will be the resistance of the conductor ?

5) In an electric circuit , three resistance are connected in series across a voltage of 200 V. The value
of R1,R2, & R3 =38, 5, 3 ohm. Calculate the total resistance and value of current passing the circuit.
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